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Name

Score

1) Leema purchases a necklace for $25 and a silver shed earing for $5. 

How much did she spend in all for her fashion accessories?

2) A shoemaker sold a pair of shoes for $45. If the buyer paid a $50 bill, 

how much will the buyer receive in change?

3) Ryans mother gave him $7 and his father gave him $9. He collected it and 

put them into his piggy bank. How much in all did Ryan put into his 

piggy bank?

4) Kennet received $32 as his daily wage on Sunday. He spent $12 to 

purchase cooking oil. How much money remains unspent?

Money - Word Problems

Currency of Australia is

Australian Dollar / AUD
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1) Leema purchases a necklace for $25 and a silver shed earing for $5. 

How much did she spend in all for her fashion accessories?

$30

2) A shoemaker sold a pair of shoes for $45. If the buyer paid a $50 bill, 

how much will the buyer receive in change?

$5

3) Ryans mother gave him $7 and his father gave him $9. He collected it and 

put them into his piggy bank. How much in all did Ryan put into his 

piggy bank?

$16

4) Kennet received $32 as his daily wage on Sunday. He spent $12 to 

purchase cooking oil. How much money remains unspent?

$20

Money - Word Problems

Currency of Australia is

Australian Dollar / AUD


